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Geometry Chapter 3 Pre-Test

1.) (2 pts each, 10 pts total) Use the following illustration to define the relationship between
each of the angles listed. Please include both the type of angles and whether they are
congru~nt supplemental or at "lb >
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2.) (10 pts) Find the value of x and y.

g\ SNAL — S\&Q SMV\t-Siﬂﬂ- in-\—(ﬂ'bf
\/\‘S—U\‘or suPP\M%H
L"qj"’&"’ 33' |L{= L8o

%pUMWkLJ

Tu-6=180
" b
Ty~ & Zx+4 = Y(2LL)+8
3.) (2.5 pts each, 10 pts total) Find the angle measure of each of the indicated angles.
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4.) (5 pts each, 10 pts total) Use the properties of triangles to find the missing angles and/or
variables. 180-92 - 26
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5.) (5 pts each, 15 pts total) Answer each of the following using your understanding of

polygons. (RO (V\ ’2;)

a) What is the total interior angle measure of a 15-sided regular polygon? What is
the measure of each angle within the 15-sided regular polygon?
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b) Find x.
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c) Find x.

6.) (5 pts each, 10 pts total) Find the slope of each of the following sets of ordered pairs.
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b) (8,-2) (2, 10)

7.) (5 pt{) Write an equatiol\for the line with the given slope that contains the given point.
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8.) (5 pts each, 10 pts total) Write the equation for the line containing the given points in
both point-slope and slope-intercept forms. Graph each line.
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9.) (5 pts each, 10 pts total) Graph each line.
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10.)  (5pts each, 10 pts total) Write the specified equation.

a) Write an equation for the line perpendicular to the line y = %x + 5 that contains
the point (-6,3).

b) Write an equation for the line parallel to the line 12x + 3y = 6 that contains the
point (1,-2).
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